P-SAP Examples
Locus = 0; Complexity = 0

Issue:  The U.S. educational system is relying more and more on standardized test scores as the most important measure of student success.

· In what way might this be a problem?  

Not everyone is good at taking tests.
· What are some possible causes of this problem?

Not everyone is good at tests.  It is not a proper measure of student success.
· What could be done to try to solve this problem?

I don’t know.
· What are the strengths and limitations of these possible solutions to this problem?

I don’t know.
Locus = 1; Complexity= 1

· In what way might this be a problem?  

Many students get nervous and lose concentration during time limits.

· What are some possible causes of this problem?

Students can feel very self-conscious about these tests.  They feel this test will determine if they are smart or not.

· What could be done to try to solve this problem?

People could look more at the student’s performance throughout the year.

· What are the strengths and limitations of these possible solutions to this problem?

One strength is that children would not feel so pressured.  One weakness is that once a student learns a subject, they may not feel the need to exercise it after that.

Locus = 2; Complexity = 1

· In what way might this be a problem?  

No one test can measure a student’s intelligence, and actually, the definition of “intelligence” is probably a bit biased. I think we just have to be sensitive and aware of these things and make a test that is what we believe to be fair.
· What are some possible causes of this problem?

Faculty can be challenging to deal with.
· What could be done to try to solve this problem?

People that have strong opinions against the test should be part of the group that writes it.
· What are the strengths and limitations of these possible solutions to this problem?

In my opinion, when you have people from all sides of a problem form a solution together there is no better solution, but the formulation of that solution would be a much more challenging process!
Locus = 3; Complexity = 1

· In what way might this be a problem?  

Standardized tests are not the only tools to measure a student’s success.  Success is diverse and the tools to measure success should be diverse as well.
· What are some possible causes of this problem?

The cause of this problem is financial, I think. The funds aren’t there to discover other tools to measure a student’s success.
· What could be done to try to solve this problem?

More funds for education.
· What are the strengths and limitations of these possible solutions to this problem?

Strength is better education for students. The limitation is government and taxpayer willingness to provide such funds.
Locus = 3; Complexity = 2
· In what way might this be a problem?  

I believe that many students have trouble taking tests.  Although they may be very intelligent, they have problems translating that into good test scores. By making standardized tests so important in measuring success the U.S. Educational system “leaves these kids behind.” 
· What are some possible causes of this problem?

I think the U.S. educational system is attempting to measure success in the easiest, quickest, cheapest way. That is what causes the problem.

· What could be done to try to solve this problem?

I think research needs to be done in order to find out the best way to measure success.
· What are the strengths and limitations of these possible solutions to this problem?

Limitation: It may be impossible to fully measure each individual’s success.

Strength: It would lead to many more “smart” kids.
Locus = 4; Complexity = 2

· In what way might this be a problem?  

Many students don’t test well and so the outcomes of the tests are not fully reliable.
· What are some possible causes of this problem?

This causes problems because both the students and the teachers focus too much on the tests and the students may not learn as much as they could.
· What could be done to try to solve this problem?

Less testing or find other ways to test students or measure their ability.
· What are the strengths and limitations of these possible solutions to this problem?

Money and reliability are limitations and strengths are that students and teachers wouldn’t have to worry so much about the tests.
Locus = 5; Complexity = 2

· In what way might this be a problem?  

There is a variety of students with a variety of learning styles and interests.  When one type of test is administered, only one type of learning and student is successfully measured. Some children can verbally express an answer or draw an answer better than write it.
· What are some possible causes of this problem?

There has to be some standard or measurement by which progress can be measure yet there is a variety of learning styles, interests and testing styles.
· What could be done to try to solve this problem?

Need standardized tests that accommodate all learning styles, a variety of interests and a variety of testing styles. Plus teaching and learning occur at local levels and they do vary city to city, state to state. Standardized tests need to take into account specific emphasis schools and teachers place on certain subjects and create local testing that matches local teaching and then set up a national guideline of materials to be covered. 
· What are the strengths and limitations of these possible solutions to this problem?

Difficult to actually implement.

Locus = 6; Complexity = 3
· In what way might this be a problem?  

Standardized tests do not always show a student’s potential.  Some students freeze when it comes to tests and as a result suffer in the long run.  Other students have difficulty with attention and cannot focus on a single test for two hours but they are still smart.  Also, book smarts is not the only type of smarts that will affect student success in the future.  Common sense, personality and creativity are also important.
· What are some possible causes of this problem?

Schools put too much emphasis on a single test which causes those students who have difficulty with tests to freak out! Also standardized tests are an easy and cheap way of testing all students so the government does not want to consider other forms of performance evaluation that may be more expensive and time consuming, even if these other ways would be better at measuring student success.
· What could be done to try to solve this problem?

Have multiple types of tests that students take to measure different aspects of student success.  This will keep there from being so much pressure on a single test and will allow for testing of a variety of skills and knowledge.  Students can be given feedback on where both their strengths and weakness lie.  This would lead to students feeling better about themselves and being more open to working on their areas of weakness because they will not feel so stupid.
· What are the strengths and limitations of these possible solutions to this problem?

Strengths- a better understanding for the student on their abilities.

Limitations- not very many but it could be costly and time consuming.
